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seem HYfE FABG#%

seem i A NER it & £ - BT 2258 B Bk B IRAR - (P G i seem
R TEIRAE - B4 > He seems happy IEGIRRIHRREEE " 2258 ) MARIREE > A2 T Al
Ay ARPREE - Hb)EESR o seem EEKIBEMEAEERY " BL - BB AE TR - seem
th o AR i R R E AL ~ BRI S R EH SR st EIEsT -

C seem B RHZE

1.UFE=Z
He seemed very sad.
WADPARE O o

247188
There seems to be something wrong with my bike.

TR IR B4 G B R

3. BT &
| seem to hear someone calling to me.

B BAEEA A AN -
4 BREMN

It seems to me you are beyond caring about what others fedl.

HEHER - ARFEAEFHI AR -

C =HOE - RFE

S+ seem (to be) + adj. ({LL3F)
She seems (to be) extremely satisfied with the new house.

ST T BRI -

S+ seem like+ O (%)
=S+ seemto be + sth
He seems like a very happy person.
He seems to be avery happy person.

i GURARREERIA -

It seemslike+ S+ V (#{&)
It seems like the taxi driver had a problem
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S+seemto+V (f£IF)
He doesn't seem to mind the rough weather.

AP AEREESHIRA

It seemsthat + S+V (fLI5F%)
=S+seemto+V
It seems that Tom likes biking.
=Tom seemstto like biking.

Tom {Dl-F S BB Hll g =

It seemstosbthat S+V (HEAME > ...... LIF)
It seemsto methat it's hard to understand why they lied to me.

HADFAREERR A AP Ry (T S BR T -

It seemsasif + S+V ({LIFf)
It seemsasif it will snow.
EHERICPEZE TR T o (ATREM RS )
It seemsasif it would snow.

EHEADFE TR 1 - (AJREMEAE)

A E R NHIMERAELLE :
A. He seemsto berich.
=t seemsthat heisrich.
A PR A EE -
B. He seems to have been rich.
=It seems that he has been (was) rich.
fEAE (LAAT) PLFESRA -
C. He seemed to berich.
=t seemed that he wasrich.
ft ARTLPRA 88
D. He seemed to have beenrich.
=t seemed that he had beenrich.

ARFEEEREAK > LA IRAEE -

: Exercise

758 TR AR 230

1. Someone to follow me.
(A) seeming (B) seem (C) had seemed (D) seems
A AEERHEFL -

2. He to be a great teacher.
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(A) seems (B) seem (C) seeming (D) isto seem
P B BT -

3. He like a great teacher.

(A) seems (B) seem (C) seeming (D) isto seem
B HIEAT -

4. 1t asif he knowswhat | did.

(A) seemed (B) seem (C) seems (D) has seemed
P RIE P = -

5. He to have caught a cold.

(A) seem (B) seems (C) seemed (D) had seemed
IR FEAERVE T -

6. He to catch acold.

(A) seem (B) seeming (C) had seemed (D) seems
fERAELIFRE T -

7. He to have caught a cold.

(A) seems (B) seeming (C) seemed (D) had seemed
HBFRHEB SR - M LAFTELPIRVE T -

8. He to catch acold.

(A) seems (B) seemed (C) seem (D) has seemed
AR RVE T -

9. 1t to me that you should leave alittle time for your family.
(A) seems (B) seem (C) seeming (D) has seemed
BT IE L R B R4S IRV R -

10. It that he didn’t wear enough clothes in the severe weather.
(A) seems (B) seem (C) seeming (D) has seemed

FEIEBFEA R > 2 A e SRR -

4
. Answer

1 2 3 4 5 6 7 8 9 10
(D) (A) (A) ©) (B) (D) © (B) (A) (A)
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